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General Instructions :

1. The question paper is divided into four sections.

2. There are 35 questions in all . All questions are compulsory.

3. Section A includes question No. 1-16 . They are objective type questions .

4. Section B includes question No. 17-25 . They are very short answer type questions carrying 2 marks each .
Answer each question in maximum 30 words.

5. Section Cincludes question No. 26 - 32 .They are short answer type questions carrying 4 marks each . Answer

each question in maximum 80 words. Question numbers 26 — 27 are case based questions carrying 4 parts of 1
mark each, making a total of 4 marks.

6. Section D includes question No. 33 - 35 . They are long answer type questions carrying 6 marks each . Answer

each question in maximum 200 words.Question no. 35 is to answered with the help of given passage.



s [#F]
SECTION A

Rea v a9
Fill in the blanks

1 Yg YT ,SIeH dUT A9 W IR gt § 7 B Rl srfSia aewar @ suefewr & 3R w |
39 A F §H A @ gFRA § |
(F) 3T TgA (@) AN GG () ARIEIRAF GG () SATFAANT TgATT
This identity is based on birth and ‘belonging’ rather than on some
form of acquired qualifications or ‘accomplishment’. We call this identity by the name
(a) Mutual identity (b) My identity (c) Community Identity (d) Personal identification

2 ¥ Fre B TS RAY & AERE B v § AT A F g TSI FT ANIRE aofo HY ST & ©
| §8 FT A FIeleT $Ed & |
These laws allow citizens of a particular state to also — simultaneously — be citizens of another state.
This law is called law.

3 3, 31791, Sfe, &1 YR 9 a8 WS oo RAfTar # e F@ & |
Communities divided on the basis of religion, language, caste, region shows.............. diversity.

4A N-gT-NN 71 a1 ¢ Ig IRaR 3R genfos gureEt § e A T sere
i # ITORFR & w7 F gfassdr § 31 81 vF AfFa A wrtow Rufy vea srdfq e amw el
g5 &I §1 3T o= 39 AR B AT Fufa F o9 E

persists over generations. It is closely linked to the family and to the inheritance of
social resources from one generation to the next. A person’s social position is ascribed. That is, children
assume the social positions of their parents.
OR

4B | WEATSH WEUA] OF FWA Ugd HY geufa & aruRoTaAr Fgardr ol
Patterns of unequal access to social resources are commonly called
FasT % 9 = Fuw @8 ¥ 91 e
State whether the given statement is true or false

5 S TF AEHTaqUT sgaer A ¥ |
Caste is not a discriminatory system.

6 YEIE UF WAE & WEEA N1 Y AF F O H [dhfeud RER I cHaer g ¥ |
Prejudices refer to pre-conceived opinions or attitudes held by members of one group towards another.

7 R & S0 8T 10 € a1g @ ¥ |
Census in India is held after every 10 year.

8 AT FAHIETR # FNFR TATEIT F HHR A AW HT HEIYT HAT AT |
In Social demography the size of the population is studied mostly (quantitative field)

9 TIHfaF e & AT FANEAT WG & FT ARGS § oA W AR A W F fiT F a7 |
The rate of natural increase or the growth rate of population refers to the difference between the birth
rate and the death rate.

e faweq gaat Rea vuar s -
Fill in the blanks by choosing the correct option —

10 | onfar cwaeyr # Rae @ @A ... G

(F) A (@) sIg (/) I\H  (F) FOR
The rules regarding marriage in the caste system are ...........
(a) Easy (b) None (c) Many (d) hard/rigid




11A

Hewifas dk W, snfa sqaear & Reuial F & Fgeadl F AHT & T F FAST 1 FFaT §. T
foretar 3R srereme W ameRa § s g dEtar sk sfwe T

3eeNg ereg T HY 7 -
(%) 91T @A FT AT (@) A W T A FT HT

(1) WY I{A FT HIT (€1) 3reler @1 T AT

Theoretically, the caste system can be understood as the combination of two sets of principles, one

based on difference and separation and the other on wholism and hierarchy.
The word separation mean -

(a) The sense of keeping together (b) The action of separating or being separated

(c) The feeling of living together (d) The feeling of eating separately

OR

11B

YA Sfd F FAS A wF fAaflse vy @9 F wg-ary vw F Ao st @ ¥ v AdegaAr syaer
A IR T AT I §, A 9Q@F Sfa F1 v AT Ty Qar g1

F WETAT AT N IR F AT A1 B, A 9@AF fa F1 v RAfdrse g g1

(®)  wm (@) T (1) GFAT  (F) ATAATT

Each individual caste occupies not just a distinct place, but also an ordered rank — a particular position in
a ladder-like arrangement going from highest to lowest.

In a ladder- like arrangement that goes from top to bottom, each caste occupies unique
(a)Gain (b) position (c) honor (d) pride

12

F AUR G, SAMfadl T AGIH, Weg TS AR radeF (Rwr), spr @ 7@
arer, F9F AR T qur i@ fEE FHART fr AfEt F aver s wwar

(®  &F (@) mshfasr (M) sfa  (a) ®F

On the basis of , tribes can be categorised into fishermen, food gatherers and hunters,

shifting cultivators, peasants and plantation and industrial workers.
(A) Labor (B) Livelihood (C) Caste (D) Karma

FYT FE FL

Correct the statements

13

AT FT HEY AT 391G & 367 & § o ufFa & ey wows S a1 Rega w
i gar §1

Urbanisation refers to the emergence of machine production, based on the use of inanimate power
resources like steam or electricity.

14

steafE aRdy #F ¥ waeh sgga 7 et i gEw FOF @ a3

In the industrial societies, the number of people in agriculture related business increases.

15

¥g YT & qur & ARRenst & fAv gger fagarera @

Indu Prakash opened the first school for women in Pune.

16

TEH AT o 9l 94T &1 gAST R

Brahmo Samaj supported the practice of Sati.

gvus [dg]
SECTION B

17A

FfATAIT TR FAT T & ?

What is Replacement level?

OR

178

frey 7y X 3 TeAt A g H FEAr quidr § S AT Y1 ge 1000 weET A @ v aF B g

T g @ 9Ed & Ald & A A 99 9§ F 9FR AN - qg K 39 At A wEwm f; guw §
St shfae wafr & 1,00,000 #AHAT # U T FY FeA qF FAT A F oA @ e §1 Ry 3k
A - A A FN & FudE Rese 3k A fr gEw O §

FT & € 9fFaal Y geHT IeT HT 3¢ -




vy 3t 7q g A Feh @ F Fww FwRoT § 2

The infant mortality rate is the number of deaths of babies before the age of one year per 1000 live
births. Likewise, the maternal mortality rate is the number of women who die in childbirth per 1,00,000
live births. High rates of infant and maternal mortality are an unambiguous indicator of backwardness
and poverty.

Read the lines given above and answer the question-

What are the reasons for the high rate of infant and maternal mortality ?

18 STentaal & TR waTor F4r § ?
What are the permanent characteristics of tribes?
19A | rfeardt ga¥ & 39 F41 §HAQ & ?
What do you understand by adivasi struggle?
OR
19B | sl duT sRSHR F @9y A FAGE F741 §?
What is social in relation to Inequality and Exclusion?
20 | ygd 9gA FAT g § ?
What are ‘Ascriptive’ identities ?
21A | gOmEmEr AT FAT BT § ?
What is an Authoritarian state?
OR
21B TSI FAT & ?
What is state?

22 | 5w O & I off Rt sgaor I @ ¥ ?
How are we still following the British ?

23 | gofiare it WIET F4AT 7 ?

What is the structure of capitalism?

24 FEfoE FAMT @ 31T FA1 FHEA ¢ ? FAS A A FOfaat F av F qaw |
What do you understand by social evils ? Tell us about the evils prevailing in the
society.

25 | qeRra-v-frwae wm ¥ 2
What is ‘Tahsib-e -Niswan’ ?

gus [
SECTION C
26A

farafaf@a sqede # afer qur Aduegar weal & s S -

ffde g & v anr g o ¥ s aanar afFq @ueT @ F1 Ageaqel wue §) Sewe

oot 31fisF J1ar et ImehReT & fRAFeul & TR & 39# 3a4r & 3¥0F APFFaT Ieaear geit ik
ART AT TR FdegaEdr # 3T & HWEF AT oF FHA| ITHF IATET, WEARAT ¥ FELT & ufa o
ITTEHAT ATl § AR WA F Wewdl A wieplas AR s Feamr - Frit # gganfrar sgdh 21
Tadaar It ¥ 91g WARAT & Fall A FIH GUR AT § wF gAY Saean 1 & faer R aw
|TEw Bl

e e 9+ -

1 Rf = F R 741 a1 Iw §-

(F AR (@) GFOA () WER  (F) AT

2 WI&RAT F4T § -

(F) et 3R RrEer i ewrar @ (@) o= 3T @ A aF7@ar Qe

(@) TH ] (9) AARSIT HT ATE




3 FEET ras 3w Frew g IehfasT & fAFedl & TR & 3§ 3a6 & IAF ARTRAT 3ot
gl 3R aher Fw v 3maRa srdegaeer & saar & A0 s o FEH |

(®  g&T I3maia (@) qffwr 3menRa (1) Brer 3mea (@) A 3maRa

4 FEAAAT Ve & 916 WARAT & FORi # FTH FUR AT § TF AR FAREAT FT Fhcar Rewr s
aTEr B

(®) s faes (@) ar faes (1) 3mm  (9) v g

Read the following paragraph and answer the questions as directed —
Literacy as a prerequisite to education is an instrument of empowerment. The more literate the
population the greater the consciousness of career options, as well as participation in the knowledge
economy. Further, literacy can lead to health awareness and fuller participation in the cultural and
economic well being of the community. Literacy levels have improved considerably after independence,
and almost two-thirds of our population is now literate.
Choose the correct option -
1 What is needed to be educated-
(a) Rich (b) Well-to-do (c) Literacy (d) Powerful
2 What is Literacy -
(a) Ability to read and write (b) Ability to speak and write
(b) a commodity (d) a means of entertainment
3 The more literate the population the greater the consciousness of career options, as well as
participation in the economy based on what .
(a) Time based (b) Role based (c) Benefit based (d) Knowledge based
4 Literacy levels have improved considerably after independence, and almost what part of our
population

is now literate.
(a) one third (b) two third (c) half (d) one fourth

OR

26B

& 1§ ARON F YR N AEATER Tt F IW S -

(7 7 3R I SHfieh 3G el A B v )
i It Lol femat TerTar 4 H e
% et o 3T
1951 18.3 27.2 8.9 18.3
1961 28.3 40.4 15.4 25.1
1971 34.5 46.0 22.0 24.0
1981 43.6 56.4 29.8 26.6
1991 52.2 64.1 39.3 24.8
2001 65.4 75.9 54.2 21.7
2011 73.0 80.9 64.6 16.7

Hd: W F SO 2011

RO & YR W /E RAhew T4-
1 |RUft & FA1 AT IAT §

(F) 3+ cgaear & & (@) #Rd # WaRar A T
(1) R A AgIE A T (°) STIEET A T

21981 # WEeRAT X & ©ff - ¥ & &g #1 3w fraan a1

(¥)26.6 (@) 24.0 (1)24.8 (e1)26.5

3 gl T @merar & # 1991 § 2001 aF A Iy A o« e g8
(%) 14.6 (@ 145 (1) 14.9 (=) 14.8

4 TSt T FERCAT g7 # 1951 § 2011 d A i & fheh Jeftr g8
(® 53.7 (@) 53.9 () 53.5 (@) 53.8




Answer the questions as instructed on the basis of the table given below-

(Percentage of population 7 years of age and above)
Year Persons Males Females Male-Female gap in
literacy rate
1951 18.3 27.2 8.9 18.3
1961 28.3 40.4 15.4 25.1
1971 34.5 46.0 22.0 24.0
1981 43.6 56.4 29.8 26.6
1991 52.2 64.1 39.3 24.8
2001 65.4 75.9 542 21.7
2011 73.0 80.9 64.6 16.3
Source: Bose (2001:22); Census of India 2011,

Choose the correct option based on the table-
1 What is shown in table

(a) Rate of economic system (b) Literacy rate in India

(c) Rate of inflation in India (d) Rate of population

2 What was male - female gap in literacy rate in 1981

(a) 26.6 (b) 24.0 (c) 24.8 (d) 26.5

3 How much did the literacy rate of females increase in the period from 1991 to 2001?
(a) 14.6 (b)14.5 (c)149 (d)14.8

4 What was the increase in the literacy rate of males in the period from 1951 to 2011
(a) 53.7 (b)53.9 (c)53.5 (d)53.8

27A

farafaf@a seqede # afdr aur Adugar weat & s o -

nffis a1 FAFE e & oify fr sfwAa sgavar 'yegar (g ik srepeear (srgfan F @i
& IR W ImaRa @<t ¥ I8 Roea BF g7 93T § Fa 79 & eaw @a § 39 FHAFs N
YT & weard) 38F AN O g7 9y ¥ @ A § A1 39F RAedlq A § I a7 FoAFE F
v wgia g 8, F 9T §1 a7 st S Foiws #1 T & yau 7@ ST § 3 U 3T
AT & 3R e F7 Yy A7 AYEY HAT ST § So¢ fareT U RAm smar ¥ SfE ) g A
giar ¢, aeiors T @ ifow afFa (srafa, anflis ar dw afFa) aodedr @ 9 a @, o e
ore afFd gt ¥ 3w Ul e et § sk Bed o afFa adt gl s Reufar faeer @l &1
sfagraaRl &1 @ ¥ 6 St S geut & wfad gu & 3w R faw snfa fr Rufa fe

ué Rwed o -

1 a§ Snfeat e Faiwis A Tl ¥ Yau AT ST § IAHT FU ST g ¥ -
(® AT (@) FE (M) GHE  (F) TE

2 SREEHR ¥ FEER BT A F P iy A Rk -

(F) St oor geut # e ge @ (@) s T geut # nfae €t ge @
(a) St T et # i ge () St @er geut A @ AT &

3 siifas afea & Far aread # -

(®) i a1 d=7 afFq (@ ) aATes afda

(1) wiegplas afFa () IeAfaw afFa

4 S AT F TN A RQ@ar § 3R 3T YT FIAT &, 3W FT Fed &
(%) GATRIET (@ ) AR () e (°) sfageer
Read the following paragraph and answer the questions as directed -

The hierarchical ordering of castes is based on the distinction between ‘purity’ and ‘pollution’. This is a
division between something believed to be closer to the sacred (thus connoting ritual purity), and




something believed to be distant from or opposed to the sacred, therefore considered ritually polluting.
Castes that are considered ritually pure have high status, while those considered less pure or impure
have low status. As in all societies, material power (i.e., economic or military power) is closely
associated with social status, so that those in power tend to be of high status, and vice versa. Historians
believe that those who were defeated in wars were often assigned low caste status.
Choose the correct option -
1 What is the place of those castes that are considered ritually pure -

(a) Low (b) high (c) equal (d) deep
2 According to historians, which people assigned low caste status -
(a) Those who were victorious in the wars (b) Those who did not participate in the wars
(c) Those who were defeated in the wars (d) Those who slept in the wars
3 What is meant by Material power ?

(a) economic or military power (b) social power
(c) cultural power (d) political power
4 The one who writes about and studies the past is called

(a) Sociologist (b) Scholar (c) Economist (d) Historian

OR

278

fArafaf@d sede #1 aier qur AdAeER WAl & W HfSd -

i w1 Y Jore A, §H A g & sfaerw A anfa & av A aga IfoF s §1 IR 7w A"
ST % myfas sfaer 194t adredl & @ry YRS g A 1947 H WIed HRCAT FacdAar H JtafaaRiw
el (A a9 1800 & 1947 dF & 31T 150 a¥) 3R Fard=aRR 3ryar iafAafRs s F 9 &
HT (1947 ¥ NS dF F FIT gUF) F T T@nfRad Qe W@ 719 g6d &1 T qHfSF GE8AT &
® # o1fd & qdAE Faeq # AofAaRe Fer dR @ F@dT sRa & g afd @ g aRadat
GaRT A & MHR Yeral fhar arm|

e e 9+ -
1onfa =i swar ¥ -
(F) oiEpfas (@) awrfas (1) fdE (9) Teeifas
2 1800 ¥ 1947 d& & FIel HI F4T ATH f&IT 14T -
(F) Wada &Fa (@) 981 F@ (1) X Fa@ (°) ufrdlRes Fwe
3 myfaeh sfoerd Fa TR g3m

(%) 184t erarsdy (@) 1947 aarsdr (3r) 204t erarsdr (&) 214} erdredY
4 yreT 1 FT AT § -
(F) =T (@)aam () G (F) ;T

Read the following paragraph and answer the questions as directed —

Compared to the ancient past, we know a lot more about caste in our recent history. If modern history
is taken to begin with the nineteenth century, then Indian Independence in 1947 offers a natural
dividing line between the colonial period (roughly 150 years from around 1800 to 1947) and the post-
Independence or post-colonial period (the seven decades from 1947 to the present day). The present
form of caste as a social institution has been shaped very strongly by both the colonial period as well as
the rapid changes that have come about in independent India.

Choose the correct option -

1 What kind of institution is caste?

(a) Cultural (b) Social (c) Economic (d) Political

2 What was the name given to the period from 1800 to 1947 -

(a) Transition period (b) Big period (c) Beautiful period (d) Colonial period

3 When did modern history begin
(a)18th century (b) 19th century  (c) 20th century (d) 21st century




4 What is the meaning of Ancient -
(a) old (b) new (c) beautiful (d) big

28A

ot ®1 3 TasT-
1. qarg
2. FSURUMT
3. figHTa
4.37+11eX
Give the meaning of the following-
1. Prejudices
2. Stereotypes

3. Discrimination
4 Humiliation

S N

OR

28B

TSI AHAGA T FRT T 70 FATer UR ek & v & ang #41 s § 2

What do you know about the social reform movement carried out by Raja Rammohun Roy?

29

T FFAT AiEplas AT & aR & aFrq 4 @ 2

Why are states often suspicious of cultural diversity?

30

ST ARG FHATST HISaA! T FIT EfAFHar § ?

What is the relevance of civil society organisations today?

31

fafeer wrrsw @ srdegaeyr #F FORY & FA i Fed 2

What role did cities play in The economic system of the British Empire?

32

fifeat & g guy v AT ¥ T FIT FASS § ? W WUY A FA R F AU FA1 FAT ST Ghar
g2

What do you understand by conflicts between generations ? What can be done to reduce this conflict?

@vus [H]
SECTION D

33A

ATCYH FT FAHEAT oo F1 Rewia Far a1 ? fFFar @ Tarv |
What was Malthus's theory of population growth? Explain in detail.

OR

33B

FAFITEIRIT WHAT 1 fAgeia Far 91 ? RFar § qar |

What was the theory of demographic transition? Explain in detail.

34

Ffa R ot A Fr s & 2

What is the difference between jati and varna?

35

farafaf@a srqede #1 afRw aur weal & 3w o9 -

eI woATs fARTd T { sgen §, AT SAF TR W qgd SIGT IR A I {1 Tg 1o s
g ¢ B AT FT AUA-UY T 3T e gt g FH 3A®™d FAT 3T anfa F Aer § Ja9fF
aRT (Fu B s RufY ae) ot & R @ sfa f guear ¥ w9 Ifled s
St 7 oA sfaat & e IR g dEH F AU H FHA-EAT FT GF §| WA A F¢ O T8
7T ¥ T tF ) @ 99 W ASF Eiel F F§ Ageaqyl IRadd U Ieures sgawdr # #
9EATd AT, TUT [T & FaaT HRA T T A WA fah AT H S G AHFA T Ay ST FHifver
#| AT 37 WER Tl & qrasg 2197 @ 7 st afay oAt & Sfiaer s@ad wt waa ganfda &
™ B

91 aRd at Frar g ?

¥ 2 §WISIE Teciers 47 8 § ? WIATOE Jealdel A Fld ¥ Ageaqul IRade e ?




Read the following paragraph and answer the questions -

Although things have certainly changed, they have not changed much at the macro level - it is still true
that the privileged (and high economic status) sections of society tend to be overwhelmingly ‘upper’
caste while the disadvantaged (and low economic status) sections are dominated by the so called
‘lower’ castes.

Moreover, the proportion of population that lives in poverty or affluence differs greatly across caste
groups. In short, even though there have been major changes brought about by social movements over
more than a century, and despite changed modes of production as well as concerted attempts by the
state to suppress its public role in independent India, caste continues to affect the life chances of Indians
in the twenty-first century.

1 what is the Disadvantaged section ?

2 What are Social movements? What major changes brought about by social movements ?




